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DISTRICT LEVEL ONLINE EE MERIT TEST - 2021
Class : X (EM & TM) Reg No: 204/2015
Questions : 60

Mains 3" May - 2021

Time : 1 hour

Max.Marks : 100

(General Knowledge )

What is the name of the programme,
launched by Prime Minister Narendra Modi,
for the occassion of seventy five weeks ahead
of 75" Independence day ?

A) Azadi Ka Hindusthan

B) Azad Hind fauj

C) Azadi ka Amruth Mahotsav
D) Dandi March ka Azadi

Identify the original name of the famous ac-
tor of the given photo, who was elected for
the Dadasaheb Phalke award for the year
2019

A) Ganapathi Raj Maharshi
B) Shivaji Rao Gaekwad

C) Tamil Super star
D) Joseph Chandrasekharan i /t

"n day" was celebrated on ?
A) March 14 B) December 22
C) July 22 D) None of these

Who was popularized the slogan " Inquilab
zindabad" ?

A) Swami Dayananda Saraswati
B) Subhash Chandra Bose

C) Lal Bahadur Sastri

D) Bhagat Singh
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Aha, Netflix, Sun NXT, Amazon Prime video
.... are the OTT platforms. What is the full
form of "OTT" ?

A) On the television
B) Over the top
C) One time television

D) Over time theatre

Find the number of Squares in the given figure.

o

N |
A) 42 B) 40
C) 38 D) 39

Arrange the following in a logical sequence
from small to big.

1) Flat 2) Bungalow
3) House 4) Cottage

5) Palace

A) 4,1,3,2,5 B) 3125,4
C) 2,3,4,5,1 D)5,31,4,72

Here two positions of a dice are shown. If
there are two dots in the bottom, then how
many dots will be on the top?

A) 2 B) 3
C) 5 D) 6

Which of the following two numbers will ex-
change to equal the equation ?

8+ 12+9x6-4=12+6=x8+9-1
A) 12 &8 B) 6&9
C) 6&12 D) 8&4
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10.

11.

12.

13.

14.

15.

Select a figure from the options which com-
pletes the figure matrix.

( English )
| belive God.
A) on B) of
C) at D) in
A person who knows many languages is

called as

A) Linguist B) Grammarian
C) Polyglot D) Bilingual
English and Hindi are my

favourite subjects. Fill in the blanks with suit-
able articles.

A) A an B) An, an
C) No article, the D) No article, no article

Find out the non-defining relative clause sen-
tence in the following.

A) The umbrella which has a broken handle
is mine.
B) Ravi, who climbs too high, is sure to fall.

C) The people who live in glass houses must
not throw stones.

D) The meeting which was held in the town
hall was a great success.

The train (leave) before we
(reach) the station.Fill in the blanks with suit-
able verb forms.
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16.

17.

18.

19.

20.

21.

A) Left, had reached

B) Left, reached

C) had left, reached

D) Had left, had reached

| understand your problems, | can't
help you. Fill in the blank with appropriae
choice.

A) Besides
C) However

B) Likewise
D) As a result

Ramesh said to Suresh, "I call you". change
it into Indirect speech.

A) Ramesh asked Suresh he called me

B) Ramesh told Suresh that he called him

C) Ramesh said to Suresh that | called him

D) Ramesh enquired Suresh that he called
him

He has been waiting for his promo-

tion. Fill in the blank with suitable Idiomatic
expression.

A) Getrid of
B) For ages
C) Get one's own way
D) At length

Nick managed to pull through to become an
international symbol of triumph over
adversity. Find the suitable meaning of the
underlined word.

A) Disability
C) Difficulties

He wrote the exam totally. Replace the un-
derlined word with suitable foreign expres-
sion.

B) Poverty
D) Opposition

A) En masse B) Viva voce
C) Sine die D) Intoto

[Mathematics ]

Iff log(sin®)=x then log (coseco) = ?
A 1 B
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22.

23.

24,

25.

26.

27.

28.

29.

If sing= 2 cos@ and tang= K. cotg then
k=72

A) 1 B) 2

C) 3 D) 4

If log 3, log 6, log x are in A.P then x = ?
A) 9 B) log 9

C) 12 D) log 18

Ifsecoe =2sing then g =7

A) 0° B) 30°

C) 45° D) 60°

If n(A)=5, n(AnB)=4,n(B)=15 then
n(B-A)="?

A) 10 B) 16

C) 24 D) 11

The mean of /2 ./8,4/18,4/32,+/50 and
J72 is

If sinA + sin?A = 1 then the value of the
expression cos? A + cos* Ais ?

1
A) 1 B) 5
C) 2 D) 3

1Y 2
The degree of p(x) = (xa +;j - (x3 __J is

A) 2
C) 6

B) 4
D) 5

3
If sin (A + B) = g = cosB then Tan A=?

1
A) 1 B) 3
C) 3 D) Not defined
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30.

31.

32.

33.

34.

35.

If the points A(7,3), B(6,y), C(x,2) and D(9,4)
are the vertices of a parallelogram taken in

order, find x and .
A) x =6, y=3 B) x=3, y=6
C) x=1,y=8 D) x=8,y=1

If the distance between the points (0,0) and
(3,seco)is /13 , where ¢ isacute angle then
0="7

A) 30°
C) 60°

B) 45°
D) 0°

‘0" is any point inside a rectangle ABCD, if
OA=7cm, OB =20cm, OC = 24 cm then
oD =7

A) 25cm B) 15cm
C) 17 cm D) 11 cm

What is the probability of for drawing out a
spade number card from a deck of cards?

A+ B >
) 2 ) %
o 2 D) >
) 26 ) 52

In AABC, /,B=90°, BD1AC. If AB =
3cm, BC = 4cmthen BD =?

A Ecm B icm
) ) ) 12

C Ecm D %cm
) 25 ) 25
\/Iog2\/§+logzﬁ =
A) 2 B) 242
C) 4 D) /2
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( Physical & Biological Sciences )

F8E, SFahS & ST |

36.

37.

38.

39.

40.

Arrange the following by Refractive index in
descending order.

1) Ruby 2) Fused quartz
3) Rock salt 4) Benzene
A) 1,2,3,4 B) 1,3,4,2
C) 1,4,2,3 D) 4,3,2,1

Choose the correct one.
Statement 1 : Iris is between lens and retina.

Statement 2 : Iris enables pupil to act as a
variable aperture for entry of
light into the eye.

A) 1 and 2 are true

B) 1 and 2 are false
C) 1true and 2 false
D) 1 false and 2 true

To describe the electronic configuration,
which principle is not needed?

A) Quantam principle B) Pauli Exclusion
C) Aufbau D) Hund rule

40

A 1Q

R

1Q 20

The resultant resistance between A and B is
5Q thenthe value of Ris
A) 40 B) 30
C) 20 D) 8Q
Carbon hybridisation present in the follow-
ing.
Alkynes, Alkanes, Alkenes and Graphite
A) sp, sp?, sp? & sp?> B) sp?, sp?, sp? & sp
C) sp?, sp?, sp & sp?> D)sp, sp?, sp? & sp?
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41.

42.

43.

44,

45,

46.

47.

What is the pH range of the acid rain?
A) <5.6 B) >5.6
C) >6.5 D) >84

The formula of copper Iron pyrites ore is

A) AlLLO,2H,0 B) CuFe,S,

C) Cu,Fe D) CuFesS,

What is the relation between strength and
directions in a uniform magnetic field?

A) Infinity throughout the field.
B) Constant throughout the field.

C) No relation between strength and direc-
tion.

D) Inversly proportional throught the field.

In these following actions, which are not re-
lated to chloroplasts?

i) Conversion of light energy to chemical
energy

i) Splitting of water molecule

iif) Reduction of CO, to carbohydrates
iv) Reduction of carbohydrates to CO,
A) i, ii
C) iii, iv D) iv

Number of chromosomesin Human maleis_
A) 22 pairs + xy B) 23 pairs

C) 22 pairs D) 23

What is the function of Eestrogen in Female?
A) Development of Uterus

B) Embryo implantation

C) Menstrual cycle

D) Mammary glands development

External fertilization occurs in which of the
following.

A) Birds
C) Frogs

B) Fish
D) B&C
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48.

49.

50.

51.

52.

53.

Identify the reasons for hunger pangs in the
following.

1) Glucose levels falls in blood

2) Secreation of Ghrelin

3) Signals of vagus nerve

A) 1,2 B) 2,3

C) 1,23 D) None of these

Which of the following is not belongs to Te-
lophase of mitosis?

A) Chromatids elongate and become invis-
ible
B) Nucleus divides into two

C) Nuclear membranes form round daugh-
ter nuclie

D) Centromeres split, seperating the chro-
matids

Which of the following hormone determined
the concentration of urine?

A) Adrenalline B) Testosterone
C) Vasopression D) FSH

Find the odd out of the following.

A) Agriculture

B) Fishing

C) Transportation of agricultural goods
D) Mining

Find the birth place of "Maha river"?
A) Multai B) Sihawa
C) Amarkantak D) Nasik

The shimla agreement was signed between
India and Pakisthan in 1971. Who was the
Prime Minister of Pakisthan at that time?

A) Benajeer Bhutto
B) Ayub khan

C) Yahya khan

D) Zulfigar Ali Bhutto
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54,

55.

56.

57.

58.

59.

60.

Infant mortality rate is calculated per 1000
people. Then how much below aged deaths
are calculated for this?

A) 1 year B) 1 month
C) 6 months D) 5 years

Which islands are the submerged parts of
Arkanyoma mountains?

A) Andaman & Nicobar islands
B) Lakshadweep

C) Pamban

D) Sicily

Who is not a member of states reorganisation
commission ?

A) Fazal Ali
C) Balwant Rai

B) H.N. Kunzru
D) K.M. Panikkar

Which country's preamble refers to the word

"gender" ?
A) Japan B) Britan
C) America D) India

Who described the 20" century as an age of
extreme sensation ?

A) Eric Hobsbawm
C) Roger morgan

B) Hitler
D) B.R. Ambedkar

"Operation Barga"isrelatedto __ ?
A) Protection of the sharecroppers

B) Protection of landlords

C) Cooperative irrigation

D) Mahalwari system

Which party is not in India at present?
A) Indian National congress (1)

B) Bharatiya Janata Party

C) Communist Party of India

D) Muslim league
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